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QUESTION 1

Identify two correct options about Application Composer, as the primary web-based tool within Engagement Cloud used
to modify standard and custom objects. 

A. It allows edits to dashboard pages. 

B. It requires the use of a sandbox to modify the fieldsassociated with standard and custom objects. 

C. It requires proper permissions to use the tools and additional permissions to edit the desired object. 

D. In includes a preview option for all standard and custom object pages. 

Correct Answer: B 

 

QUESTION 2

Which three statements are true about building Digital Customer Service (DCS)applications? 

A. Many DCS applications can be active in production at the same time. 

B. DCS includes a "reference implementation template" that illustrates recommended implementation practices. 

C. Only one version of a DCS application can be active in production at any time. 

D. DCS application can be embedded in other sites. 

Correct Answer: BCD 

 

QUESTION 3

If you did not use the Reference Implementationtemplate for your Digital Customer Service (DCS) application, you will
_________. 

A. not be able to preview your application before you publish it 

B. have to contact Oracle Support for the permission to deploy your custom DCS application 

C. be required tomap roles so that the Visual Builder Cloud Service role matches the Engagement Cloud role 

D. be required to create all of your own components for the display of Engagement Cloud objects 

Correct Answer: D 

 

QUESTION 4

Which two statements are true regarding the Audit History tab of a Service Request? 

A. It is enabled by default. 
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B. It is available only toauthorized administrators. 

C. It is searchable by date range, username, event type, event severity, and event duration. 

D. It is exportable to Excel. 

E. It allows users to save searches for later reuse. 

Correct Answer: AE 

 

QUESTION 5

If you want to disable the ability to delete activities for all users, what action should you perform? 

A. Remove the "delete activities" button from all pages used by the users who have this access. 

B. Remove the "delete activities" role from all the users who have this role. 

C. Remove the "delete activities" privilege from all the roles for users who have this access. 

D. Remove the users of the roles who have the "delete activities" access. 

Correct Answer: D 
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